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(8 A 2 HMEUEIE) p = (1/V/3,1/3/3,1//3) € S? & L,
e (O,U,u):= (OF,U,uf) € Ay,
o (0, V,v):= (05,U; ,uz) € Ao,
&35 (cf. #% Example 8.1.2). 2D & &
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0:58% = 8% (—x1, 22, x3)

#FEZD, 0 Ep=(1/V3,1/V3,1/V/3) € S? DEbH T C® H#THh 5L %rE (% Example
13.1.6 DERMIR).

Fi: 5?2 5 S2 WO MTHEHILIFABDBI LT 5. p=(1/V3,1/V3,1/V/3) € 2 izo\T
rank(dy), &Ko & (7% Example 13.2.5 DOEKHR).

BE: B 126 HHR 127 FTH n € Zso KDWT, (PR, [Ag]) % Proposition 10.2.2 T
TEDT= n RTT C™ BERIKE T 5 (FREH). Hit 54

¢ : P(R?) = P(R?),[x1 : w2] — [21 : 29 : 0]

IZOWTERS.

¢ : P(R?) = P(R3) 21 C™ #hTH 5 Z & 257 (%% Example 13.1.6 D).

p=[1:1] € P(R?) iZ2WT rank(dy), %k & (% Example 13.2.5 DHfLL).

BRE: B 128 HNHM 129 £ Tny,no,ng €Zs0 &L, % i=1,2,31Z20T (M;, A;) 2ENhEh n,
Wt C° WBERRIKE TS, o : My — Ms, ) : My — Mz 2T C° HEHRLT 5.
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M O>® WEBHRTH D Z & %R (37 Theorem 13.3.1).
(FLKR—b: S H2HMEXEE)pe My £55.

(d(¥09)p = (dY) () © (dp)p as T My — Ty M

%t (%% Theorem 13.3.2).



